Economics 102

Answers to Homework #1

Spring 2007

Due 02/06/2007 in lecture
Directions: The homework will be collected in a box before the lecture. Please place your name, TA name and section number on top of the homework (legibly). Make sure you write your name as it appears on your ID so that you can receive the correct grade. Please remember the section number for the section you are registered in, because you will need that number when you submit exams and homework. Late homework will not be accepted so make plans ahead of time. Good luck!

1.


(a) False.  To measure the opportunity cost of doing something, we need to include the lost earnings that we would have been able to obtain if we had not done that action.

(b) True.  For example, we can say that “The opportunity cost of producing one apple is 2 gallons of milk.”
(c) False.  If Mercel didn’t live in the house and lent it out to somebody else instead, he would have obtained a rent payment.  This is the opportunity cost of using the house for himself.
2.

(a) See textbook.
(b) 5/3 pounds of pork.  3/5 gallons of milk.
(c) Yes.  As country B moves to the left on its production possibility frontier, the opportunity cost of producing one gallon of milk increases.
(d) Country B has an absolute advantage in producing milk.  Country A has an absolute advantage in producing pork.
(e) No.  Comparative advantage is based on the opportunity cost of production in each country.  Since the opportunity costs in country B are not constant, we can not determine comparative advantage from the information given.  
3.
(a) Bill has the absolute advantages in both tasks.
(b) Bob has the comparative advantage in cleaning classrooms.  Bill has the comparative advantage in advising students.
(c) 18 classrooms, 35 students.
(d) Yes, their joint performance can be increased through specialization. For example, if Bob specializes in cleaning classrooms and Bill spends 20% of his time on cleaning classrooms and the rest of time on advising students, they will jointly clean 20 classrooms and advise 40 students.
(e) The degree of gain Bill and Bob individually experience depends on how they split their total production.  However, both of them gain from specialization and trade because otherwise, they would not cooperate.  This is a simple example of gains from trade.
(f) This statement is false.  Every country must have comparative advantage in the production in at least one industry provided that the opportunity costs of production  are not equal for the different countries..    

4.
(a) False.  If a price of a good is higher than equilibrium price, there will be an excess supply.
(b) False.  The equilibrium price and quantity will move in the same directions.

(c) True.
(d) True.
5.
(a) Change (i) will shift the supply curve of milk to the right and hence the equilibrium price of milk will decrease.
(b) Since coffee and milk are complements, the demand for coffee will increase (the demand curve will shift to the right).
(c) Change (ii) will shift the supply curve of coffee to the left.
(d) The equilibrium price of coffee will increase, while the quantity of coffee may either increase, decrease, or remain the same.
